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    TIME LIMIT: 3 HOURS 
IN TAKING THIS EXAMINATION, YOU ARE REQUIRED TO COMPLY WITH THE SCHOOL OF LAW RULES AND PROCEDURES FOR FINAL EXAMINATIONS. YOU ARE REMINDED TO PLACE YOUR EXAMINATION NUMBER ON EACH EXAMINATION BOOK AND SIGN OUT WITH THE PROCTOR, SUBMITTING TO HIM OR HER YOUR EXAMINATION BOOK(S) AND THE QUESTIONS AT THE CONCLUSION OF THE EXAMINATION.

DO NOT UNDER ANY CIRCUMSTANCES REVEAL YOUR IDENTITY ON YOUR EXAMINATION PAPERS OTHER THAN BY YOUR EXAMINATION NUMBER. ACTIONS BY A STUDENT TO DEFEAT THE ANONYMITY POLICY IS A MATTER OF ACADEMIC DISHONESTY.
GENERAL INSTRUCTIONS:
This examination consists of 56 multiple choice questions and one essay question (which counts 25%). Answer the multiple choice questions on the answer sheet provided. Write "Version A" on the answer sheet. Write it NOW. Also write your examination number where it says "Write I.D. Number Here," and then carefully mark your number in the blue-striped box labeled "Mark I.D. Number Here." Do not skip lines. You should mark only one box in each of the first five lines for your five digit examination number. This is part of the test. Answer the essay question in a Bluebook.

Answer each multiple choice question selecting the BEST answer. Mark your choice on the answer sheet with the special pencil provided. Select only one answer per question. If you change an answer, be sure to FULLY erase your original answer or the question may be marked wrong. Make sure your answer marks are dark. You may lose points if you do not mark darkly enough.

When you are finished, turn in the answer sheet, Bluebooks and this question booklet.

Every even-numbered multiple choice question asks you to reanswer the preceding odd-numbered question. Question 2, for example, asks you to reanswer question 1. If you are fairly confident about your answer to the principal question, mark the same answer for the "reanswer" question. If you can narrow the choice down to two answers, however, and cannot decide which of the two is the better one, you may wish to mark a different answer on the "reanswer" question. IMPORTANT NOTE: If you decide to mark a different answer on a "reanswer" question, at least one of your two answers will be wrong.

Unless the context otherwise requires (such as where the facts are specifically stated to arise in New York), base your answers on general common law principles as generally applied in American common law jurisdictions. Do not assume the existence of any facts or agreements not set forth in the questions. Unless otherwise specified, assume that the period of limitations on ejectment is 10 years.

Facts for Ackerton-Bellis questions. Bellis bought a 60-acre parcel from Ackerton in order to build a summer home. The parcel, shown as parcel "B" on the map below, was conveyed to "Bellis a and his heirs."


Immediately prior to Bellis's purchase, parcels "A" and "B" were both owned by Ackerton. At the time of conveyance, there was a visible lane on the ground, which shown as a line running from the second "H" in highway in the map above. 

1. Assume that the deed from Ackerton to Bellis stated: "This conveyance includes a permanent right of way to be located on the existing lane between the highway and premises conveyed." 

a. Bellis would presumptively have a license to use parcel "A". 

b. Bellis would presumptively have an attendant easement. 

c. Bellis would presumptively have an appurtenant easement. 

d. Bellis would presumptively have an easement in gross. 

2. Reanswer the previous question. 


3. Assume that the deed from Ackerton to Bellis did not mention any easements but that, prior to the conveyance, Ackerton had long used the lane running across parcel "A" in order to gain access to the land that is now parcel "B": 

a. If Ackerton had used the lane for a long enough period, an easement by prescription may have arisen for the benefit of parcel "B," and Bellis (as owner of parcel "B") would now be entitled to use this easement. 

b. These facts appear to support finding an easement by implication benefitting parcel "B". 

c. Both of above. 

d. These facts provide no plausible basis for finding an easement benefitting parcel "B". 

4. Reanswer the previous question


5. Assume again that the deed from Ackerton to Bellis did not mention any easements but that, prior to the conveyance, Ackerton had long used the lane running across parcel "A" in order to gain access to the land that is now parcel "B". If a court were to find that an easement was created by Ackerton's conveyance, it would, on these facts, almost certainly be: 

a. An easement by implied grant. 

b. An easement by implied reservation. 

c. An easement by prescription. 

d. These facts provide no plausible basis for finding an easement benefitting parcel "B". 

6. Reanswer the previous question. 


7. Assume again that the deed from Ackerton to Bellis did not mention any easements and that, prior to the conveyance, Ackerton had never utilized any particular part of parcel "A" in order to gain access to the land that is now parcel "B". Without a means of ingress and egress, however, Bellis could make no use of parcel "B". 

a. There is no likely way that Bellis could enforce any kind of legal right-of-way across the lands retained by Ackerton. 

b. Bellis would seem to have a strong case for asserting a quasi-easement across parcel "A", but nothing more. 

c. Bellis would seem to have a strong case for asserting an easement by prescription across parcel "A". 

d. Bellis would seem to have a strong case for asserting an easement by necessity across parcel "A". 

8. Reanswer the previous question


Facts for Teller-Smidders questions. Smidders bought parcel "S" from Teller, who conveyed to "Smidders and his heirs." 

[image: image1]
Just prior to Smidders's purchase, Teller owned both parcels "T" and "S". 

9. Assume that the deed from Teller to Smidders did not mention any easements. If Smidders were to try to assert that he had an easement by necessity across parcel "T", which of the following additional facts would (if true) work most strongly against him? 

a. When Smidders bought parcel "S", he already owned parcels "Q" and "R". 

b. The deed from Teller to Smidders did not mention any appurtenances. 

c. Teller never used any particular part of parcel "T" in order to gain access to what is now parcel "S". 

d. All of the above would work strongly against a claim by Smidders of an easement by implication. 

10. Reanswer the previous question. 


11. Assume that Smidders does have an easement by necessity across parcel "T": 

a. Even if Smidders later buys parcels "Q" and "R", the easement would continue for as long as it is convenient to the use of parcel "S". 

b. Even if Smidders later buys parcels "Q" and "R", the easement would continue for as long as it is reasonably necessary for the use of parcel "S". 

c. If Smidders later buys parcels "Q" and "R", the easement by necessity across parcel "T" would probably be extinguished. 

d. If Smidders later buys parcels "Q" and "R" and then sells them again, the easement by necessity across parcel "T" would be first extinguished, then revived. 

12. Reanswer the previous question


13. Assume that the deed from Teller to Smidders stated: "This conveyance includes an easement of way to run between the highway and premises conveyed at a location described as follows: [legal description]." 

a. If Smidders later conveys parcel "S" to Sylvester, Sylvester would presumptively be entitled to use the easement in order to get access to parcel "S". 

b. If Smidders later subdivides parcel "S" into 2 parcels, the owner of each resulting parcel would presumptively be entitled to use the easement to get access to his/her part of parcel "S". 

c. Both of the above. 

d. If Smidders later acquires parcel "R," he would presumptively be entitled to use the easement as a means of access to parcel "R" as well as to parcel "S". 

e. All of the above. 

14. Reanswer the previous question. 


15. Suppose that, Smidders owns an easement of access across parcel "T" but he finds it more convenient--especially in winter--to get to the highway by trespassing over parcels "Q" and "R". The reason is that Quick and Rick (owners of "Q" and "R") plow a driveway from the highway to a point near boundary between "R" and "S", and Smidders likes to avoid the expense of having his own right-of-way plowed. For 9 years now, Smidders has made many trips per day across parcels "Q" and "R" in the winter months, though he rarely does so during the other three seasons. 

a. Quick and Rick have absolutely no reason to worry that Smidders's trespasses might ripen into an easement by prescription because the continuity is interrupted for 8-9 months every year. 

b. These facts present a typical situation in which the wrongful use of a neighbor's land will not ripen into an easement by prescription because the use is far too occasional and sporadic. 

c. Both of the above. 

d. In a year or so Smidders will probably have a good case for asserting an easement by prescription over parcels "Q" and "R" unless Quick and Rick take proper action to the stop the ripening of the easement. 

16. Reanswer the previous question.


17. Assume that, for many years, Smidders regularly cross-country skied across parcels "Q" and "R" to reach the highway. If these trespasses resulted in an easement by prescription: 

a. Smidders should be able to lawfully drive his bulldozer over the easement when there is not enough snow for skiing. 

b. Smidders should be able to lawfully run a cable TV wire along the easement that he acquired by trespassing on his skis. 

c. Smidders should be able to lawfully cut away encroaching brush and remove fallen logs that impede ski travel along the easement of way. 

d. None of the above. 

18. Reanswer the previous question. 


19. If Teller's deed conveying parcel "S" to Smidders included an express grant of an easement of way over parcel "T" for "pedestrians, automobiles, and other vehicles": 

a. Smidders should be able to drive his 4-wheel drive truck (a type mainly used for highway driving) over the easement created by the deed. 

b. Smidders should be able to run a cable TV wire and electric utility wires along the easement of way created by the deed. 

c. If Smidders later subdivides parcel "S" into three smaller parcels, the three owners of the smaller parcels would have to decide among themselves which one gets to use the easement rights that Teller conveyed to Smidders. 

d. All of the above. 

20. Reanswer the previous question. 


21. When one joint tenant ousts another joint tenant: 

a. The ousted joint tenant is normally thereafter able to recover money from the joint tenant who committed the ouster. 

b. The ousted joint tenant is normally thereafter able to maintain an ejectment action against the joint tenant who committed the ouster. 

c. Both of the above. 

d. The right of survivorship of the joint tenant who committed the ouster is destroyed. 

22. Reanswer the previous question.


23. At the time that Teller conveyed to Smidders, there was no electric service to the cabins on either parcel "T" or parcel "S". Smidders decided to incur the expense of running an electric line from the highway to his cabin, and he wanted the line to cross a portion of parcel "T" over which he had not acquired any easement. He and Teller orally agreed that, in exchange for Teller's allowing the line to cross his land, Smidders would allow Teller to tap in (with a meter, of course) at a point where the line would pass close to Teller' cabin--saving Teller over $1000 of installation expense to electrify his cabin. The line has been put in, but Teller now threatens to cut the segment between his cabin and parcel "S". 

a. Smidders may well have an executed parol license to maintain the electric line across parcel "T". 

b. Smidders appears to have an easement by express grant to maintain the electric line across parcel "T". 

c. Both of the above. 

d. Smidders is entitled to an injunction prohibiting Teller from interfering with the line because Smidders gave Teller a consideration in exchange for the right to maintain the electric line. 

24. Reanswer the previous question. 


Facts for Kramer-LeFess questions When Kramer sold Leffacre to LeFess, he retained Kramacre next door. Neither Kramer nor LeFess realized that the water pipes supplying Kramacre run across Leffacre. Therefore, the deed to LeFess mentioned no easements. To change the location of the pipes would, at this point, entail a lot of expense, so having the existing pipes on Leffacre is reasonably necessary to the use of Kramacre. It is not, however, strictly necessary. Except for a small, manhole-type installation on Leffacre, there is no surface indication of the pipes. 

25. If LeFess tries to prevent Kramer from using the existing pipes: 

a. Kramer would have a corresponding right to prevent LeFess from using any easements that LeFess might own across Kramacre (so-called "implied reciprocal easements"). 

b. In some states, Kramer should be able to establish an easement by implied reservation based on these facts, if the manhole-type installation were found to be visible and "apparent." 

c. In many or most states, because use of the existing pipes is "reasonably" necessary for Kramer, an easement by implication to use the pipes would be recognized in favor of Kramacre based on necessity alone. 

d. None of the above. 

26. Reanswer the previous question.


27. One of the strongest reasons for not recognizing an easement by implication for the pipes is: 

a. The existence of the easement would require LeFess to refrain from making any uses of the portions of his property above the pipes. 

b. A grantor should not be allowed to derogate from his or her own grant. 

c. The deed mentioned no easements, and that is legally final. 

d. There is no evidence as to how long the pipes were in use before the conveyance. 

28. Reanswer the previous question. 


29. Suppose that, right after the conveyance, Kramer had no legal right to use the pipes on LeFess's land. LeFess found out about the pipes and demanded their removal but, nonetheless, for the next 11 years Kramer kept on using them, despite LeFess's repeated demands for their removal: 

a. LeFess's 10+ years of "negative action" (i.e., negative legal action) after notice that Kramer was using the pipes, probably means a "negative easement" to use the pipes has ripened. 

b. In states that strictly adhere to the rationale of the "lost grant" fiction, the hostile/claim of right element of prescription would be, if anything, reinforced by Kramer's continued use of the pipes despite LeFess's repeated demands. 

c. In states that strictly adhere to the rationale of the "lost grant" fiction, the ripening of an easement by prescription would probably have been prevented by LeFess's repeated demands. 

d. There would be no way for Kramer to obtain an easement by prescription in this case because underground pipes are, by definition, not an "open and notorious" use. 

30. Reanswer the previous question.


31. Clark and Kendra Mansfield are married and acquired Greenacre as tenants by the entirety in 1980. In 1990, Ellis acquired Kendra's interests in Greenacre in satisfaction of a tort judgment that he had against her. Since 1990, however, Clark and Kendra have continued to occupy the property. If the Mansfield's jurisdiction follows the New York (minority) approach to this kind of situation, Ellis would have acquired in 1990: 

a. A right to share possession of Greenacre with Clark for as long as Kendra remains alive. 

b. A right to enjoy sole possession of Greenacre at Clark's death, provided that Clark predeceases Kendra. 

c. A right to maintain an ejectment action against Clark if the latter refuses to allow Ellis to join him in possession of Greenacre. 

d. All of the above. 

32. Reanswer the previous question. 


33. Suppose now that Clark and Kendra Mansfield (who are married) live in a state that does not recognized the tenancy by the entirety. Since getting married, Clark saved some money from his job and bought a motorboat. Kendra took some of her personal inheritance and bought a sports utility vehicle. Presumptively: 

a. The vehicle belongs solely to Kendra and the motorboat solely to Clark if they are in a community property state. 

b. Both the vehicle and the motorboat are shared 50-50 by Kendra and Clark if they are in a "common law" property state. 

c. The vehicle belongs solely to Kendra and the motorboat is shared 50-50 by her and Clark if they are in a community property state. 

d. Both the vehicle and the motorboat are shared 50-50 by Kendra and Clark if they are in a community property state. 

34. Reanswer the previous question.


Facts for Simpson-Pelouse questions Simpson owned a house that he wanted to sell. After Simpson placed an ad in the newspaper, he received a call from a real estate broker who said he knew of some people who might be interested. Simpson replied that he'd very much like to meet them--adding, however, that he would not accept an offer of less than $350,000. The broker introduced Simpson to Pelouse, a prospective buyer. 

35. Under the majority rule the broker would be entitled to a commission from Simpson: 

a. If Simpson and Pelouse sign an contract that contains the typical financing condition. 

b. If Pelouse makes an offer and is "ready, willing and able" to buy on the essential terms required by Simpson. 

c. If Pelouse makes an unconditional offer of $300,000. 

d. All of the above. 

36. Reanswer the previous question. 


37. Assume that Simpson and Pelouse have agreed on a price, and they intend to sign a detailed contract of sale as soon as practicable. In the meantime, the broker has suggested that they "hold" the deal by signing a binder form, prepared by the broker. The form sets forth the price, the location and the parties' names. Just above the signature lines is a sentence: "This agreement to sell and buy shall be binding upon and inure to the benefit the parties named above." If properly advised: 

a. Simpson should make sure that the quoted sentence is replaced with "This is not a Contract" (or the like) before he signs, though Pelouse would probably be just as well off leaving the quoted sentence in. 

b. Pelouse should make sure that the quoted sentence is replaced with "This is not a Contract" (or the like) before he signs, though Simpson would probably be just as well off leaving the quoted sentence in. 

c. Both parties should make sure that the quoted sentence is replaced with "This is not a Contract" (or the like) before they sign, given that they want to sign a detailed contract of sale. 

d. Neither party should allow the quoted sentence to be replaced with "This is not a Contract" (or the like). Such a change in the wording of the binder would make it legally meaningless, and there would be no point in signing it. 

38. Reanswer the previous question.


39. Suppose that Simpson and Pelouse entered into a contract for the sale of Simpson's house to Pelouse at a price of $355,000. The contract contains a "financing condition" under which Pelouse can cancel if he does not have a $300,000 mortgage commitment on certain terms within 30 days. Pelouse could cancel: 

a. If, for whatever reason, Pelouse does not have such a mortgage commitment within 30 days. 

b. If, after using reasonable efforts to obtain such a mortgage commitment, Pelouse cannot do so because of his credit rating. 

c. If Pelouse makes no effort to obtain a mortgage commitment. 

d. All of the above. 

40. Reanswer the previous question. 


41. Suppose that Simpson and Pelouse entered into an unconditional contract for the sale of Simpson's house to Pelouse, and Pelouse paid Simpson a down payment of $35,000. Then Pelouse notified Simpson that there was no way Pelouse would complete the contract. The contract stated no warranties of marketability. Pelouse should be entitled to get back the $35,000 down payment if the sale fell through because: 

a. There was, across the backyard, an easement that was not referred to in the contract of sale and that Simpson could not buy in or otherwise cure. 

b. Pelouse has been transferred to Japan by his employer and would suffer great financial hardship if forced to go through with the deal. 

c. Pelouse discovered that the local zoning would prohibit converting the house into a dentist's office, the very purpose for which Pelouse was buying the property (although the contract made no mention of such a purpose or the zoning). 

d. None of the above. 

42. Reanswer the previous question.


43. Suppose again that Simpson and Pelouse entered into an unconditional contract for the sale of Simpson's house to Pelouse, and Pelouse paid Simpson a down payment of $35,000. A title search on behalf of Pelouse revealed that Simpson's name does not appear in the grantee index at the Recording Office. Simpson explains that the reason is that he acquired title by adverse possession. Pelouse would not be entitled to reject Simpson's deed and get back the $35,000 down payment: 

a. If Simpson had previously brought a suit to quiet title which resulted in a final judgment declaring the title to be in Simpson. 

b. If Simpson offers to indemnify Pelouse for any costs or loss that Pelouse might incur in the event someone sues him in ejectment claiming to be the owner of the property. 

c. If Simpson is willing to convey by means of a quitclaim deed. 

d. If Simpson is willing to convey by means of a warranty deed. 

44. Reanswer the previous question. 


45. Suppose again that Simpson and Pelouse entered into an unconditional contract for the sale of Simpson's house to Pelouse. Simpson delivered a deed to Pelouse at the closing. Later that day, Pelouse noticed that there was an error in the courses and distances description in the deed. As a consequence, the courses and distances description did not describe a "closed" polygon. This problem would be cured: 

a. If Pelouse makes the necessary correction on the deed that has been delivered to him so that the deed, as recorded, will be correct. 

b. If the deed, as delivered to Pelouse, also contained a map description that correctly described the premises to be conveyed. 

c. Either of the above would (by itself) cure the problem. 

d. None of the above. There is no problem. 

46. Reanswer the previous question.


47. Suppose that Simpson delivers a deed conveying his real estate to Pelouse, and the deed contains a provision reserving to Simpson an easement to cross the rear of the property, at a definitely described location, in order to reach adjacent lakeshore land (Blueacre) still owned by Simpson. 

a. Pelouse should be able unilaterally to revise the location of the easement at any time, so long as such revisions do not unreasonably interfere with Simpson's use of the easement. 

b. If Pelouse records the deed promptly, a buyer to whom Pelouse later sells would be deemed on notice of the easement even if such buyer purchased with no actual knowledge whatsoever of the easement's existence. 

c. Simpson's right to use the easement should continue for as long as Simpson wants to use it, even if he later sells Blueacre. 

d. Simpson should be able unilaterally to revise the location of the easement at any time, so long as such revisions do not unreasonably interfere with Pelouse's use of his land. 

48. Reanswer the previous question. 


49. Suppose again that Simpson delivers a deed conveying his real estate to Pelouse, but this time assume that the deed contains no provisions referring to any easements to cross the property conveyed. After the deed is delivered, Pelouse discovers that someone named Faye owns an easement to cross the property in order to reach the adjacent land, Blueacre. 

a. Pelouse should be able to rescind the deal and get his money back under the implied warranty of marketability. 

b. Under the implied warranty of marketability, Pelouse should be able to recover from Simpson any damages that he sustains as a result of the easement, but he cannot rescind the deal and get his purchase price back. 

c. The easement would have constituted a clear breach of the implied warranty of marketability, but Pelouse is no longer able to assert a claim under the implied warranty. 

d. None of the above. Such an easement would not constitute a breach of the implied warranty of marketability. 

50. Reanswer the previous question.


51. A conveyance to "Pete and Woodrow Wilson and their heirs" would presumptively give them: 

a. A tenancy in common with each other. 

b. A tenancy in common with each other and their heirs. 

c. A joint tenancy with right of survivorship. 

d. A joint tenancy but without right of survivorship. 

52. Reanswer the previous question. 


53. Assume that Pete and Woodrow received a tenancy in common. Assume also that Pete entered into and has remained in sole possession: 

a. Pete could never acquire a sole title by adverse possession because his possession is deemed to be the possession of both him and his co-tenant. 

b. Pete would, under the majority rule, presumptively be liable for rent or damages to Woodrow, who is equally entitled to enjoy the benefits of possessing the land. 

c. If Pete committed an ouster of Woodrow, and Woodrow did not re-enter, Pete would probably acquire a sole title by adverse possession 10 years after the ouster. 

d. All of the above. 

54. Reanswer the previous question. 


55. Assume that Pete and Woodrow had a tenancy in common. Pete leased his own interest in the premises to Fred for three years: 

a. It would be logical for a court to require Pete to share any rental proceeds equally with Woodrow. 

b. Such a lease would constitute an ouster of Woodrow unless Woodrow had consented to Pete's making the lease. 

c. The rights of survivorship would be destroyed. 

d. Woodrow would be entitled to share possession of the premises with Fred. 

56. Reanswer the previous question. 

Essay Question 
Fortner contracted to purchase a city lot on which he intends to build a house. The same lot had been owned by Willton during 1947. In that year Willton had conveyed an adjacent parcel of land to a man named Hooker by means of a deed that contained the following covenant: 

"The grantor undertakes on behalf of himself, his heirs, successors and assigns, as follows: No permanent structure shall be placed on the premises retained by the grantor herein any closer than 25' from the front property line of such premises. 

The reason for the covenant was that Hooker liked the view from the second floor window of the house on the adjacent parcel that he was buying. Although Willton's deed to Hooker was duly recorded shortly after its delivery, neither Fortner nor his vendor, Deckard, were aware (until yesterday) of its existence or contents. In any event, the house on the adjacent parcel has since been torn down and replaced with a senior home. The new facility has no windows on the side facing the lot that Fortner has contracted to buy. The owner of the senior home, Finaldaze Eldercare, Inc., bought the parcel 10 years ago from Semjack who, in turn, had bought it from Hooker. 

Yesterday, Fortner received a title report that revealed the existence of the covenant, which the title insurance company has excepted from its coverage. Fortner wants to know whether the covenant might be enforceable. Is it? 

<End of Examination.> 

